Nim2or3

Julia and Robert are playing a variant of the classical game Nim - let us call it Nim 2 or 3. There are
some matches lying on the table. Julia and Robert take it in turns to pick up exactly 2 or 3
matches from the table. The player who is unable to complete his turn (i.e., when there are no
matches or exactly one match lying on the table at the start of the turn) loses.

The task is to print all possible game play scenarios for a given initial number of matches. A
scenario is understood as the sequence of numbers, corresponding to the number of matches
collected in successive turns. The output should be sorted in lexicographic order.

Input

Input consists of exactly one integer 3 < x < 30 - the initial number of matches.
Output

All possible game sequences, ordered in lexicographic order.

Example

Input:
7

Output:
41
420
520
530
531

Comment:

In the first game play sequence the first player took 3 matches, and the opponent also took 3
matches. There is only one match left - the game is over.

Scoring

By solving this problem you score 10 points.


http://mathworld.wolfram.com/Nim.html
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